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Mathematics
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 80
Number of Questions to be attempted : 80
Section Marks : 80
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 1 Question Id : 813561481 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Three squares of a chesshoard are selected at random. The probability of selecting two squares of one
colour and the other of a different color 1s equal to

8 tEKofto BYR (10 BEOTVL' 3 A0 LT . ' Bot> 8 dor, TS D) dorb $9

EokirS (o R0 Jod?
Options:

10
1. % 17

15
19

17

3 % 23
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21

Question Number : 2 Question Id : 813561482 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The value of (sin 210)(sin 585 ) is

(sin2107)(sin 585 ) Dewsd

Options:
1

2 xE
—7}
2. ® i "-.-'IIE

1
V3

i

Question Number : 3 Question Id : 813561483 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The curves v = 4x? 4+ 2x — 8 and y = x* — x + 13 touch each other at the point
¥ =4x% 4+ 2x — 8 2080dw y = x° — x + 13 350 06,000
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Options :
. (34,3)

, v (3,34)

L (—3,34)

4w (—32,3)

Question Number : 4 Question Id : 813561484 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If the magnitude of the vector product of the vector i + j + k with a unit vector along the sum of the
vectors 21 +4] — 5kand A7 + 27 + 3kis equal to /2. then the value of ‘A" is

4]+ kooss 2Bain 21 +4] -5k, A1 +2] +3k H080 doswre g, 636" &)
QRS R, RAT Leo BN, A6V LA g HB3FE0 Devd V2. wowd, 1 =

Options:

1w 1
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Question Number : 5 Question Id : 813561485 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical
w2
W p o= f sin™(x) dx and I, = (k)I,,_» then what will be the value of k ?
0
n/2
I= [ sin (x) dx 00ain [, = (k)I,_, ©008, k =
0
Options :
n
n—1

n—1

ntl

n

n+1

Question Number : 6 Question Id : 813561486 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

1. 1 1 0
LerM:[O l}mdN:[U 2].The11NMmN_1:

(11 |0 10 -1 _
M_lﬂ ll, N—[U 2]. o, NM"N — =
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Options :

i .

0 1
1.¢

L: =b

0 1
2. ®

1 =18

0 1
3., %

{1 10]

0 1

4, ®

Question Number : 7 Question Id : 813561487 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find ‘A" if @, b, are three non-coplanar vectors such that
c

[42+3b - 4@ +3b+20 T—4b-C|=P+A+D[@ b T
T,b,C w Aure osdabiosies §od POy By 163 1 Dewd

[47 +3b ¢ 47 +3b+2r T—4b-c]=(F+1+DE b 7]
Options

1 ® _?_, B

, u =T b

3.v 71 78
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Question Number : 8 Question Id : 813561488 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The sine of the angle between the pair of lines represented by the equation x? — 7xy + 12y2 = 0 15

= Tay +12y* = 0 Sarodrfyy e S 6 ©008, sinf Desd oo

Options :
1
1 = 12

Question Number : 9 Question Id : 813561489 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Find the coefficient of x> in (1 + x + x?2)%.

(1+ x4 x%)® Ddeaes® x° cag), Hsin Bwboed.
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Options :
1 % 405

5 % 404

Question Number : 10 Question Id : 813561490 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the circle with Centre (2, 3) and touching the line 3x —4y + 1 =01s
3x—4y +1 =0 803 Ry 380 (2,3) S0 (0 3,8 HEGEAD
Options :

| % x2+y2+4x+4y+12=0

- 24 yi—4x—6y—14=0

3 x Xy —4x—6y+14=0

4\?,:{"‘3—#}-'2—4;5—6}'-!—12:[}

Question Number : 11 Question Id : 813561491 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
The equation of any in the complex plane is of the form 27 + bZ + bz + ¢ = 0 where (b €
C, cER)

(beC cER)vS zZ + bz + bz4c=0 m&mmmég@um@s‘eﬂgowwab
S5500%) APDd?

Options :

Circle

syl

Straight line
5 % D6 B

Parabola
DT DL

Hyperbola
w BT DLAIOL

Question Number : 12 Question Id : 813561492 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

.JC'2

— 18
(x—a)(x—Db)

The fraction

xz

2y S0
(x—a)(x—b)
Options :
always a proper partial fraction
Dy‘t’.g_‘;}:jaa 28 g.,me:}mi;:m
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always an improper partial fraction

5 Dy:g):,ci.} w8 wﬁg;ﬁaa‘,‘)@lm

a proper partial fraction for certain values of a, b only
a,be %"D‘l LSS A S Dy

an improper partial fraction for certain values of a, b only
a,bew§ Y LRVHVL ATFDI DS D)o

Question Number : 13 Question Id : 813561493 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
In a regular hexagon ABCDEF, AD + EB+FC = (34 — B)E. Then A =
ABCDEF g0%¢0yae°® AD +EB + FC = (31— 8)AB ea0d 4 =

Options :
3

1. %

Question Number : 14 Question Id : 813561494 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the ellipse with its focus at (6,2) centre at (1,2) and which passes through the point
(4,6) 13

(4,6) Dociosy) (ot Y. (1,2) ogetoor $BA (6,2) T €90 B6:3,8 PRbgomw

Options :
(E=1* {=2)"
Ay T 16

_BE (pdiE
b1 +.y :

=1
5 % 25 20
(x—1)% (y—-1)?
T
3 % 45 16
(x—1)%2 (y—-2)2
4 = 16

4w 45 20

Question Number : 15 Question Id : 813561495 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

6

If f:R — Risdefinedas f(x) = , ¥ x € R, then the range of f is

x542020

. : x6 . i P i
f:R—=R, flx)= ol VXER, bésmmi)a, 200D f oog) T

Options :
[0,1]

1. %

AP EAMCET 2020



AP EAMCET 2020

Question Number : 16 Question Id : 813561496 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The value of ‘k’ for which the equation x? — 4xy — y* + 6x + 2y + k = 0 represents a pair of
straight lines 1s equal to

2= 4y =y  +6x+2y+k =0 »osomsw we H6¥ Barainm) ) ardR), k =

Options:

Question Number : 17 Question Id : 813561497 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

; o ; . dy :
The general solution of the differential equation e +y g'(x) = g(x) g'(x) is

j—ﬁ +y g'(x) = g(x) g'(x) 95805 DLBETIS Ferdes FESd

Options :
glx) + iog(l + v+ g{x}) =l

2¢§&J+mdi+r—gﬁﬂ=f

3 % g(x) —log(1+y+g(x))=c

4 x 90 —log(1+y—g()=c

Question Number : 18 Question Id : 813561498 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Consider the family of circles x% + y? — 2x — 24y — 8 = 0 which passes through two fixed points
A & B distance between them is

BR6Y ¥ _}’2 —2x—2ly—8=0, Botd fgdﬁom@w A B o thot T'&, ¢ ID(,’)?S c.’lJ”U":Jl
30Dt

Options :
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Question Number : 19 Question Id : 813561499 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Geometric mean of tan 1°, tan 2°, ... ... ..., tan 89° 1s

a1 fan2? o ,tan 89° R‘JD&J@EJ ﬁjﬁmcﬁémm

Options:
1
1. % 89

Question Number : 20 Question Id : 813561500 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a coin 1s tossed 6 times. the probability of getting more heads than tails 1s

w8 FHEANR 6 FD IS VY, & R0wST) aﬁ“.‘.u&m AEVEVENA VY Rografd
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Options :
13
32

15
32

11
32

Question Number : 21 Question Id : 813561501 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

n
In the expansion of (a. £ 1=k é) . where n € N there are 2029 terms. Thenn =

n
(a+1+2) d30me* 2029 desne Gods, n Devsd od? (1 € N)

Options:
% 1015

1.
, % 1013

5 o 1014

4 1012
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Question Number : 22 Question Id : 813561502 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

General solution of 4sin?(x) —4sin(x) +1=01is

4sin?(x) —4sin(x) +1 =0 5“65@5 G5 Dol

Options :
hrs
x =2amt—  nEL
1. % 3
w
x:'i-m-!—[—l')n? ; EZ
2. % 3
T
x:mr-i-(—'l_)ng . neZ
3. %
—an+(—1)"— . nez
4, %

Question Number : 23 Question Id : 813561503 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. : 2 '. !
If Tanh™ (x +iy) = 7 Tanh™ (Hx; +y2) + %Tsm'1 ( 1_x2_y2). where x, v € R, then Tanh™(iy) =

i ¢ 2x ' !
Tanh™ (x +iy) = 3 Tanh™ ( - ) + % Tan™? ( ) :x,y € R wond, Tanh™(iy) =

L+x24y? 18-y

Options :

;% i Tanh™1(y)
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—i Tanh™(y)

2. %

i Tan"1(v)
3.¢

. —
4% t Tan™ “(y)

Question Number : 24 Question Id : 813561504 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the total number of rectangles on a normal chessboard.

o BBt B0 o BEBBIETO Doy

Options :

a2 8
- sz Cz

s 8
- L, e

e, %7C
3. %

Question Number : 25 Question Id : 813561505 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The eccentricity of an ellipse. with its centre as onigin. 15 1/2. If one of the directrices is x = 4. then
the equation of the ellipse 1s given by

P06 Sodor™ v wS ég;sag; 68060 1/2 Batw 28 dabs B 1 = 4 WA, &
8629, P00 Buiod.

Options :

_— 4x2 +y2 =12

5 % x2 4 3y? =12

- 4x% 4 3y% =12

2 .
Lo 3P H4yE=12

Question Number : 26 Question Id : 813561506 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The length of the chord intercepted by the circle x2 + y2 —6x + 8y —5 =0 on the line 2x —y =5
is equal to units

x4 yP =61 +8y—5 = 0 dydo, 2 — y = 5 B D60 a7y Ty AN
Options :

1@ 10

, x 32
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Question Number : 27 Question Id : 813561507 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let f(x) be a polynomial and a, b be distinct real numbers. Then the remainder in the division of f(x)

by (x—a)(x—b) 15

f(x) 0 HE6ms. a,b e D) TR RoRjen. f (x) & (x—a)(x = b) & arhosrr Sy

F22:00 B0,
Options :
(x—a)f(a)—(x—b)f(b)
1. % a—b

(x—a)f(b)—(x—Db)f(a)
2 % a—Db

(x—a)f(b)—(x-b)f(a)

3.¢ b-a

(x—a)f(a)—(x—=b)f(b)

Question Number : 28 Question Id : 813561508 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If one of the two circle x? + y2 + ¢, (x — y) + ¢ = 0 and x% + y2 + &, (x — y) + ¢ = 0, lies within
the other. then (where ay, e, € R, a; # a;)

Ayt ag(x-y) +e= 02008000 12 +y2 + ap(x—y) +c = 0 dygren w8’ 2B

QG G0, BN (0,2, ER, 0 # y)

Options :

Question Number : 29 Question Id : 813561509 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The equation of the plane through the intersection of the planes x + 2y +3z -4 =0 and 4x +
3y + 2z + 1 = 0 and passing through the origin is

Y+ 274374 =0 200050 4v + 3y + 22+ 1 = 0 dre SE9a Aot Tdr Lredetd)
o Vel $0 2eonsw
Options:

1 17x+ 14y + 11z =0

> % /X+4y+z=20

g X 14y + 11z =10
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px 17x+y+z=0

Question Number : 30 Question Id : 813561510 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Exactly how many functions f: Q — Q exist such that f (x + y) = f(x) + f(v) and f(xy) =

flx)f(y) forall x,y € Q7

f:Q - Q&daw fx+y)=f(x)+f(y) fly)=fRf(y) Yy € Q? eapbur Gk
PRVeV I R08)

Options :
One
1 % 088

Two
2 Oolod

Three

3. % a

Infinitely many

4 % 9080

Question Number : 31 Question Id : 813561511 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Let z = x 4 yi. where x,y are ntegers and { = y/—1 the area of the rectangle whose vettices are the
roots of the equation 7 z* + z(2)® = 700 s

Xy e ;’gjgosnww. = \:‘j, =l o o 24 z[zf' = 700 He0ESHA0 cﬁ.ung DTNV
3ganeor 5o AGHAsRAN WS DTUL0 Jod?
ol &l a

Options:
. 3%

1. %

> % 40

48

80

Question Number : 32 Question Id : 813561512 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the subnormal at any point on the curve y" = ax 1s constant then the value of n 15

VU = ax 3508 AR Do) 56 AR &h-odvotdy TED) fgﬁm BOND, N =

Options:
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Question Number : 33 Question Id : 813561513 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The derivative of f(x) = Cos™ [sin \/T + x* with respect to x at x = 1 1s equal to

| — |
)= eas™ {sin \J'HTx] +x* ad, x =156 x dﬁ%‘é flx) edg08:50

Options:
1

1. %

b | e | =

u:.lm

Question Number : 34 Question Id : 813561514 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020



AP EAMCET 2020

The particular solution of the differential equation e secy.v(0)=01s
X

d .
d—yz secy, y(0) = 0 3803 HNLBnD HE°d F6d
X

Options :

1 % X =cosy

, % X =smy +q
V=8l %

3. '

4 o X =siny

Question Number : 35 Question Id : 813561515 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ratio in which the point P. whose abscissa is 3. divides the join of A(6,5) and B(—1,4) is equal
to

A(6,5) 208050 B(1,4) Docodyvro €95 525, 1-&roean 3 1 (o Docod) P Deszodd
iy fedovsod..

Options:
1w 374

3§;33:2
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Question Number : 36 Question Id : 813561516 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If sine =sinf and cosa = cosfthena — f = for some integer n

sine =sinff 08030 cosa = cosf ®oVd a—f = (n rorossw)
Options :

1%5”‘1-[

Question Number : 37 Question Id : 813561517 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If P and Q each toss three coms. The probability that both gets same number of heads. 1s

P, Q &0 8) 8,60 APty TEIA0RD DSV fagaé £5" 20, R0 RAFHAR(E" DE D
rooe;valge:é b ..

Options :

1. %
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Question Number : 38 Question Id : 813561518 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

V3 sin(8) + cos(8) .
. T o
sin (5‘ + F)

Options :

Question Number : 39 Question Id : 813561519 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the origin is shifted to (2, 3) the transformed equation x? + 3xy — 2y + 17x = 7y — 11 = 0 then the
otiginal equation of curve is

20r0DodYA (2,3) Dot :chéo S0y, Mrodd ©£0500 Bodrr a8 pdgenan aiog), 0N
Gran x4 4 3xy = 2y% + 17x = Ty — 11 = 0 eooms, e5e "cohJSGE'a“:Jl VoG
Options :

x2 —2y? —3xy+4x—y+20=0

x2—2y?+3xy+4x—y—20=0

2.«

o x2—=2yv?—3xy—4x—y+20=0
3 % : :
4 x2 —2y? —3xy+4x—y—-20=0

Question Number : 40 Question Id : 813561520 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The circle x2 + y? — 6x — 10y + p = 0 neither intersects nor touch the coordinate axes and the point
(1,4) lies instde the circle. Then the range of possible values of ‘p’ 1s

X2+ y% = 6x = 10y +p = 0 5,850 AEPOTTOD 2y, Fotht) P 3080 Dodorhit) T, ¢
2,840 (1,4) Do 3,8 Bosss’ €90 Gofl, ' © Fejaby Jusde T

Options :

13323{‘1){:25
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2 @ 25 <p<29

L x 2l<p<23

,x 12<p<21

Question Number : 41 Question Id : 813561521 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the radius of a sphere 1s mentioned as 7 m with an error of 0.02 m then the approximate error in
calculating its volume 1s

28 Avo J"éﬂ"go 7 bae;;gam e, & msbgo E0atod 80 0.02 &0, R
20RDBATEANES’ GPanox) By sdoff o ?

Options:

3
1 % 1.83r m

5 % 2250 m3

3 % 439 m®

4 3.92r m>

Question Number : 42 Question Id : 813561522 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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_ X
The function of f(x) = [x]| + u is
X
) | x|
Do f(x) = x|+ ~
Options :
contimious at the origin

. 2rwDoRIY 9 29T R S0

discontinuous at the origin because |x| is discontinuous there

- Surededa) 98 [x] mmm SR QDo) HE f(x) brﬁ{:_bl;‘.m

. . - & [— .
discontinuous at the origin because — is discontinuous there
X

20D B Ll DB 20 TV 20Dt 3¢ f(x) D) 3w

3. *

X . ;
are discontinuous are

discontinuous at the origin because both |x| and .

| x| soBosn L 20 30r0Doidi)SE D) A0 TYD rwdotd) 36 f (1) D) n
4, % X @ o :

Question Number : 43 Question Id : 813561523 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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If 4 is a Skew-symmetric matrix then (given n € N):
(1) A*™ is Skew-symumetric matrix

(i1) A?"*! is Skew-symmetric matrix

A w8 38 ﬁ)“’%},,;ﬁ SIS oD, NI N EN D
(i) A%" g S H- 38
(i) A% g D 238

Options:
(1) 15 True, (11) 1s False
(1) Dz, (11) e9Z3GD0
1. % @

Both (i) & (ii) are True
5 % (1) <S0dain (11) Sr dwaanen

Both (1) & (11) are False

(1) Sdodwn (i) Sror e9Zicahunen
3. v ®

(1) 15 False. (11) 15 True

4w (1) EﬂE;'}(gQJJ, (11) Q2200

Question Number : 44 Question Id : 813561524 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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2 1 1

Therankof [0 3 —1 |is
i —=2 i

Z2 1 1

0 3 —1|2rds dws), §8=

¥ =1 1

Options:

1. % :

2. ¢ 2

3. % .

4% *

Question Number : 45 Question Id : 813561525 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

b=l 4 2 2
IfQisthemverseof A whend=[2 1 -3|and10XQ=(-5 0 x|.findx=
O | 1 -2 3
I =1 I 4 2 2
A=[2 1 =3].10xQ=[-5 0 x|=008080 A4 3798 D& a0 Q ©owd, x =
i Wi 1 =& 3
Options:
1. % -
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Question Number : 46 Question Id : 813561526 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a,b, ¢ are in Arithmetic Progression (A.P.). then the roots of the equation ax® — 2bx + ¢ = 0 are

@b, c 00 wogdee’ &ofS, ax’ — 2bx + ¢ = 0 HEGHAY 0308) APV

Options :

Question Number : 47 Question Id : 813561527 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The equation of the fransverse axis of hyperbola (x — 3)2 + (y + 1)? = (4x + 3y)? is

(x=3)2 + (v +1)% = (4x + 3y)* Bga,zd8 o 965 s EDE GRS

Options :
“ 3x +4y =13

.JSI—&L}-':IB

2
3 % Sy —3 — 13
4 % 3x —4y =9

Question Number : 48 Question Id : 813561528 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What is the value of x 1f the mean of 8,6,7,5, xand 4157 7

8.6,7.5, x 2000300 4 © DT80 7 901, 1 e dUdod.

Options:
1. % 10
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Question Number : 49 Question Id : 813561529 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two u and v are parallel if and only if

1 208C) V) 2EFL Drodte OIS OISV, DTN AODHAD0

Options :
u and 1 have the same direction
LU 08030 T e DE A% AT

u and ¥ have the opposite direction
U 200050 v e (B0 &2 DOIW

One of them 1s a scalar multiple of the other
208 DOBW VOIS AedowT RoES VOF SO\

The dot product of u and v are Zero
u, ve @&Tugm Wé?s.;.‘m

Question Number : 50 Question Id : 813561530 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

mf4

J (tan? x + tan* x) dx =
0

Options :
3
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Question Number : 51 Question Id : 813561531 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For how many values a € C, the equations x* — 8x + 7 = 0 and x* — 2ax + 49 = 0 have a common

root?
2 —8r+7=0.2% - 2ax + 49 = 0 HDLGHINVE emé& Jar0dw &odd. a awe), Dende
;’ooepﬁ

Options :

Question Number : 52 Question Id : 813561532 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

; : y 1.
The equation of the normal to the circle x? + y* = 16 at the point ( ) 15

3’3

11
(—_,—,_) Dothad 36 1% + 1% = 16 738 o wdoow 2EGRAD

Y3 43
Options :
wa—l—yzﬂ

[3

X —y=—

2. ® 4

x—y=20
3. 4

V3

XY ="T

4. % Y.

Question Number : 53 Question Id : 813561533 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If mand n are the least and greatest values of |z| respectively and |z — 4 4 3i| < 1. Let k be the
rxtte

least value of on the interval (0, c0). Then k =

X

1 ) ST || 308, S8, (16 Do B0 |z -4 +3i] < 1 & 2 o (0,0)

xHat+4
00B608° ——— awe, $34 Dewd k waws, k =
X
Options :
1. ¢ it
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m

m+n

mn

Question Number : 54 Question Id : 813561534 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The co-ordinates of focus of the parabola 5x2 = —12y are

5x% = —12y Hordwairdsd o0 J6rHTe

Options :

Question Number : 55 Question Id : 813561535 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
AP EAMCET 2020
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If @, B are the roots of x2 — 2x + 4 = 0, forn € N. what is the value of " + " =

-2 +4=0% a,f w Areaww. n €N oo, a” + " =

Options :

ni
22 con (%)

2+l npg (E)
2. ¢ A

2ntl npg (E)
3, % 8

27+2 cng (E)
4. % a

Question Number : 56 Question Id : 813561536 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the general solution of * sin x 4 sin 2x + sin3x = cosx + cos 2x + cos 3x’

sinx 4 sin 2x + sin 3x = cosx + cos 2x + c0s 3x VAVECEANL QS FER

Options:
2T nw T
2nm +— —‘|'—,'nEZ
1 % 3’ 2 " 8
2T nm T
A T s e
2 % 3 2 8

AP EAMCET 2020



AP EAMCET 2020

Question Number : 57 Question Id : 813561537 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A straight line L, passing through A(3,1) meets the coordinate axes at P and @ such that its distance

from the origin 0 is maximuim, Then area of AOPQ 15 5q. vnits

A(3,1) Dothsdy oot ﬁ%:&):.\l 28 WY 8 Ly, ez P &vboin Q © Sl mo&‘@abi&.
Qrofotnd) Aol Ly £ v Grdaw (18 o, A0PQ GR0aR) JTufn ___ By
0.

Options :
100
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Question Number : 58 Question Id : 813561538 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A speaks truth m 20% of the cases and B i 80% of the cases. Find the probability that their statements
about an ncident do not match.

20% "r’\}oc:')tl”a?.)ﬁﬁ A 08030 80% ‘r’on:'c:’)*::"?)e'.nreﬁ‘S B Qao artraerd. w8 Dok 2do0) T abb
A Y bd&}gé;ﬁn ATt ln o 1= ‘ﬁoa_?bse.’s
Options :

3
25

Question Number : 59 Question Id : 813561539 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If the roots of the given equation (cosp — 1)x% + (cosp)x + sinp = 0 are real. then
(cosp —1)x% + (cosp)x + sinp = 0 & AFVAVL TS RODIL) VAR, BRYE

Options:
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Question Number : 60 Question Id : 813561540 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f is integrable on [0, a]. then the function h defined on [0,a] as h(x) = Vx € [0,a] is integrable
on [0, a]

[0,a] 3 f 8réud0ssn 2850 Yr e [0,0] © h(x) = ___ DY, h(x) HArguRch.
Options :

., fla=0

o fa-a)

s FOO

L x f@

Question Number : 61 Question Id : 813561541 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
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The equations of hines passing through (5, 3) and perpendicularto 2x +y -7 =018

(5,3) Dotdosd) ot e, 2x +y — 7 = 0 G otol™ &od 52 HAVEGE0

Options :

1. % 2y —x—2=0
2. % 2y —x+2=0
3 % Xty—8=0
4. & 2Zy—x—1=20

Question Number : 62 Question Id : 813561542 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

k
J. (MI — w‘?]z dt =
0

Options :
RZ

AP EAMCET 2020



AP EAMCET 2020

Question Number : 63 Question Id : 813561543 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the minimum radius of the circle which is orthogonal to both the circles x% + y? + 4x +3 =0
and x% +y2 - 12x+35=10

4y 443 =0 0B xf +y? - 120+ 35 = 0 gk voniyiie § T3 o
SN mﬁﬁgm _

Options :

3% V17

4. \;E

Question Number : 64 Question Id : 813561544 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let 1 and v be two nonzero vectors. if | + v| = |u — v| then

U, v e Dot %@:55@d 2E2OD0 U+ v = |u — v] @ond
Options :
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1 and v have the same direction
U, V D5AF DA

i and v are perpendicular
U, Ve us -8 S08030sEE Lot

u and v have the opposite direction

U, Ve ;55@35 &HFDGTeL
3. ®

Data Insufficient

GTFoFo wma@gm

Question Number : 65 Question Id : 813561545 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The unit vectors orthogonal to 37 427 + 6k and coplanar with 27 4+ ] + kand § - i+ k are

20 +] +k 1] +koasos podavaier. 31 +2] + 6k © vondumring) aord 2680k
VNG,
Options :

1 s m
. iﬁ(Zl — k)

> 4/ 10
L s
. iﬁ(ZL —3j)
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1
17

H-
gl

(27 +37 —2%)

Question Number : 66 Question Id : 813561546 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the sum of the slopes of the lines given by 4x% + 2Axy — 7y? = 0 is equal fo the product of the
slopes. then 4 15 equal to

4x® + 200y ~ 7y* = 0 rdod Savw Teow wddw T wePdS HArINS, 1 =

Options:

Question Number : 67 Question Id : 813561547 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

10001 x 100!
2X114+5%x 21410 x 3!+ -+ 10001 x 100!

Options:
1001

1100

1. #

AP EAMCET 2020



AP EAMCET 2020

10001
, » 10100

101

5 % 110

100001
4 % 101000

Question Number : 68 Question Id : 813561548 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

jgxf"z (2 + sm:r) —
1+ cosx

Options :

2e*/2 cosec(x/2) + ¢

1. #

5 2e*/2tan(x/2) + ¢

- 2e*/? cos(x/2) + ¢

L x 2e*/2 sin(x/2) + ¢

Question Number : 69 Question Id : 813561549 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

.[ [IG; — .[:10%1_*,:}2} dx =

Options :

| % xlogx + ¢

o« X logx +¢

log x

e s

Question Number : 70 Question Id : 813561550 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The crew of an 8-oar boat 1s to be chosen from 12 men. of whom 3 can row on the stroke side only.
The number of ways in which the crew can be arranged is

8-96 ¢DAR DE9% D% a%}néo 12 &008 Aot JodE AT, Do’ :mgumm §5§ )
Srg 5 Bodrivw. B0 4R wmc‘)ﬁﬂa‘) 0050 Do ___

Options:

°C, x °C, x 31 x 4!

1. %

9 3
, C4>< C4><4!x4!
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Sfjgxgcax-’-}le!
3_%5

9 9
Lx Cax7C, x4 x4

Question Number : 71 Question Id : 813561551 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

1+ cosx sinx

Let f{k) = Tan™! ( ) : g{x) = Tan™! ( ) ,then J (f[;) i Q{R)) dx =

sinx 1—rcosx

(=T _1(1-|-cosx)m6m =T _1( sinx ) " (( ” j)d
) =Te ¥) = €900, X x))dx =
f(x) = Tan e glx) =Tan ™" 7— J flx)+glx))dx
Options :
mx  xZ
1% 2 4
2
1, e
2.¢ -
o
ke
3, #®
o
& s e
4. = s

Question Number : 72 Question Id : 813561552 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The tangent at the point (1, 2) to the curve y? = 4x makes an angle 6 with the positive direction of

x-axis. Then f =

yE =4y S508 568 0 0800 104 5 (36 6 S &1, oy § =

Options :

Question Number : 73 Question Id : 813561553 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If A(2,-3) and B(—2, 1) are two vertices of a triangle ABC and if the centroid of AABC lies on the
line 2x 4 3y = 1. then the locus of vertex € of AABC 1s equal to

w8 S0aan ABC 3ot Jgren A(2,-3), B(-2, 1) 508050 & Gondn Sogardw 2 +3y = 1
09 2690 D tioth 36:300 € 0308, Doriore HENSCRAY

Options :

1 % 2x +3y =35
Py T —
2.‘*/“1 + 3 9

: P o
3 % 3x -2y =25
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4% 3X+2y=9

Question Number : 74 Question Id : 813561554 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The pair of straight lines represented by the equation 3dx? + 5xy + (d% — 2)y? = 0.If the lines are
perpendicular to each other, for how many values of d this condition will be satistied?

3dx® +5xy + (42 — 2)y2 = 0 22860 20Doid Gen 28TIE'EE vorw b desorr
Gotéri0ier d & 2D) Dendew Fes[Aw?

Options :
0

Question Number : 75 Question Id : 813561555 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The solution of x g = y(logy —logx + 1) 1s

d
X d—i = y(logy — logx + 1) 580D ©DEBeTIE FED

Options:
AP EAMCET 2020
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y =xe™™

¥ =iEE
vZ = cxlog(x)
« B ;

4 x log(y) = ex

Question Number : 76 Question Id : 813561556 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The co-ordinates of the focus of the parabola (x + 3)? = 2(y — 5) is

(x + 3)? = 2(y — 5) HordHLOHD) T DETHSLD

Options :

L« k5 8)

Question Number : 77 Question Id : 813561557 Question Type : MCQ Display Question
AP EAMCET 2020



AP EAMCET 2020

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the slope of the line ax + (3 —a)y + 7 = 0 is 7 then the value of integral part of ‘a” is

ax+ (3 —a)y +7 = 0 8 cwg), Ten 7 eod. ‘a’ as), TS T 30Nk

Options :

1.¢ 3

3' H 0-5

4. H 3-5

Question Number : 78 Question Id : 813561558 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A and B are two candidates seeking admission in a college. The probability that A 1s selected 15 0.7
and the probability that exactly one of them is selected is 0.6 . Find the probability that B is selected.

ABew wd&ﬁm o T8 dpd. A e.ociy.‘qb Tocserd Rogrdyd 0.7 A0das T8 w80

Sréd @d&ﬂé Totstrds o3[ 0.6. w0, B wéém Totderds R[S dod?

Options :
1. % 0.15

, % 0.20

3 @ 0.25
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4 % 030

Question Number : 79 Question Id : 813561559 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A pomt in the domain that cannot be filled in so that the resulting function is continuous is called

28 BRESAS" HBS Hdairen B S BIEA3 AodwEH Do 290608

Options :

Removable Discontmuity
Sadabecide I S

Non- Removable Discontinuity
BRDODRICTD DN A

Impossible Discontimmnity
O G[RoaDy DD B0

Irrelevant Discontinuity
900656y D) S0

Question Number : 80 Question Id : 813561560 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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3
Let A, B and C be three angles of a triangle ABC such that cos 4 + cos B + cos(C = pi then

the triangle ABC is

3
A, B,Ce ABC @amamﬁb E'earren, 0803w cos A + cos B + cos € :Ewrmb. &5
Sz W

Options :
Equilateral

1 ¢ RIsETPTND 52302232000

Right angled

_ Lo2)S't BZVRAW

Isosceles but not equilateral

3 % RDOGETTN SR VEAVETITV HZFLBAL TG

Scalene
4 % DRASVETITN 323025900

Physics
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
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Mark As Answered Required? : Yes

Question Number : 81 Question Id : 813561561 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A charge g € moving m a circle of radius *r” m makes n revolutions per second. Magnetic
field at the centre of the circle is

T M TG 0 5,33006° g € edsaw 2608 n F20TL0 BN, Sogdw 36 M\¢

90D 08 EGA
Options :

i SRy ~1 -1

— X107 Noamp ~.m
1. % nr

2

= X 1077 N.amp L. m™?
2.% T

2mn

1 %1077 N. amp - l.m™!

3.v T

2m

i N.amp i.m™
4.% T

Question Number : 82 Question Id : 813561562 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The electric potential on the surface of a charged spherical conductor of radius 5 cm 15 200 V.
Work done in moving a charge of 45 C from a point A to another point B situated at distances

of 15 cm and 10 cm respectively from the centre of the sphere is

DEAREI B0 5 em 355‘2;313 0 28 Hers Tirsdn DBV JEE THIHS
200 V. 4 20k B Docdaayen e B Sogdaan fvod AR 15 em 208odn 10 cm droeed’
&) D. Dot A ot Dot B & +5C é)msmé?:)l 20HEPAS BONSVIE HY

Options:
1 % 16.717

5 % 2237
5« 88817

4 v 166.717

Question Number : 83 Question Id : 813561563 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements is correct regarding photoelectric effect?

1. The electrons are emitted if emitting surface is at high temperature.

| ]

. Photoemission occurs if wavelength 1 less than a critical value,

3. The K.E. of photoelectrons is proportional to the square of the amplitude of mcident radiation.

+=

The photoelectric current 15 proportional to the frequency of incident radiation.

o) 3@55 208 Hoeiofor) & $o8 TS’ B N8 BONA HIBHAN?
[ 288 dow egﬁ;ja D8 6R) YT JUTRD DV
B ‘r’aoc‘bg QLS o Adofs QQ}S&D HIIWN e‘.ﬁﬁ%;ﬁ &éli,}_‘);jdl‘ o) &c{?ﬁm Dtﬂbc&)m
3. D9 D3omAn’ o 576 QF.JE“:Q d@aéé o HBA Dg"ﬁ)é 9208 ArFSANG” G0t

4, =08 DB TR DAY Ddnn ang) TS e SrdoFdand’ e9)6

Options :

1.*1

-3

Question Number : 84 Question Id : 813561564 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A light meter rod has two-point masses each of 2 kg fixed at its ends. If the system rotates

about its centre of mass with an angular speed of 0.5 rad.s™L. its rotational K.E. is

RLEN ) fErS Boco W6 2 kg © r’gd S0 BRk Diowrd. & ;3,5.5;‘8 05rad.s™*
Ehanadd B370°380go ol F0ren Babuidd), T e (dasd

Options :

| % 0.125 erg

5 % 1.25 erg

3 u 1283

4 v 01257

Question Number : 85 Question Id : 813561565 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If By is the magnetic field induction at a pomt on the axis of a circular coil of radius R situated at a

distance Ry/3 and B, is the magnetic field at the center of the coil. then the ratio of B_l 15 equal to
2

R rfrgin i 28 876 &1 o) @50 dotrd RV3 Groawe’ &) e ed £330 B,

B
SoBoh & Sritiot) o 6 LIl £8: B, wad, B—l aR08), Desd
2

Options:
1

1.% 3

1
2.v 8
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| =

MlH

Question Number : 86 Question Id : 813561566 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two opposite and equal charges each of magnitude 4 X 107 ¢ form a dipole. Their separation
is 2 X 1072 em. When this dipole is placed in an external electric field 4 X 108 N.C ™2, the value

of maximum torque and the work done in rotating it through 180 respectively, will be

4% 1078 ¢ 5% HBATHAT 2605 2 X 1072 om Grdan & 3 Sabtg Gt ST wé
B30 \GSGIR. @A 4 X 10°N.C 0 S £8208° 6ol AR Haw 88
r6, 080k Y 180" Eerod om0 Bawottrs) Babddig £ devden Sk

Options:
64 X107*N.m & 64 x107*]J

1. %

. 32 Xx107*N.m & 32 x107%7J

3 % 64 X107*N.m & 32 x107*]J

4v,32><10“*w.m & 64 x107%7J

Question Number : 87 Question Id : 813561567 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

To estimate ‘g’ from g = 4% — . ertor in measurement of L is + 2 % and error in measurement
T2

of T 1s 3 % . The ervor in estimated ‘g" will be

L
L Evad’ 8w +2 %, T Svdd’ 84w 43 % wond, g = 4r’ = Argan 00é ‘g’
03T Haknees’ B

Options :
1« 8%

, % £5%

3. % £3%

Question Number : 88 Question Id : 813561568 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The coefficient of viscosity of an ideal fluid is

2,8 GG, GD0 ijlgﬂ“ oS0

Options :
equal to 1
1 % 2888 DATODW

ZETO

> o waé;:m
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infinite
3 % VRS

greater than 1
258 So) S D

Question Number : 89 Question Id : 813561569 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Five point charges 1/;3 , 2/ 5 3/ T .4/ and _5/ 7 hano-Coulomb are located inside a pyramid.
The total electric flux through the surface of the pyramid is

02 Doth) HOATE DEVTFDT Vo 2 3 AL =5 58-umots a,¢ DEDE
&' 637 ow. 0E ED8B0AD Aol SDYD AW DS BDTIPAW
Options:

1 » 180 N.m2.Cc™ 1

, % 90 Nom®.Cc™!

3 % 55 Nom?.C™!

4 % 5 N.m?.c1

Question Number : 90 Question Id : 813561570 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Assuming that the junction diode is ideal, the current in the arrangement shown is

330,008 GOAPE T GiFaP, 306 020086 DS HTPEW SFD0E.

A 100 Q

I

@ o
3V 4 il Y
Options :

1 % 2mA

2 20 mA

3 x 30mA

4 % 10 mA

Question Number : 91 Question Id : 813561571 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A force F is needed to break a copper wire having radius R. The force needed to break a copper
wire of radius 2R will be

mﬁﬂvgmj R o oof &) S08) 00 SoHrrs sPHUnD wwo F. eownd 35&2;5.13 2R o
A Sd) S008) &0 HoHEAS STHUND Lo

Options :
F
1.% 2

0 % 2F
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Question Number : 92 Question Id : 813561572 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

300 g of water at 25 °C is added to 100 g of ice at 0 °C. The find temperature of mixture will be

5% 24 &) 300 B 0°C 36 &) 100 g ochsy EDar 0. ©900% b3 eg gLV Sm?bo&.

Options :
1 % 25 °C

Question Number : 93 Question Id : 813561573 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The kinetic energy of a body 1s increased by 4 times. Its momentum will

w8 S (MB23S 4 Ot wawd, ) G5) Sridw

Options :
1.¢
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increase twice
Coc SR

increase four times
e Eg_griaén

decrease twice
TS ejgam

I'ElllﬁillS constant
4 % SO

Question Number : 94 Question Id : 813561574 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a player throws a ball. it reaches the other player in 4 seconds. If the height of each
player is 1.8 m. the maximum height attamed by the ball above the ground is

18m 80 &) G0 SLTHNS’ 28 SLMD 08 DNBIYYD b Toksd BT
4 282008° 3808, e0nd Frad Aol & Lod B0 r"xﬁ%l D30 Jodh?

Options :

% 19.4m

L« 20.4m

3 21.4m
4. % 22.4m
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Question Number : 95 Question Id : 813561575 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When the temperature difference between the source and sink ncreases. the efficiency of the
heat engine

GSoan 6ot erIaDN So6| &S S0 HERVYE 61 0VeGA A,
G5

Options :
Decreases
e:’a%bm

Increases
FaloblgbPab]

1s not affected
DeTOSAL T

may increase or decrease
Z:‘:Ciri;f:ﬂ’n& oo e:ﬁt"‘i;ﬁtﬁ)a
(@]

Question Number : 96 Question Id : 813561576 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The V — I graph for a conductor at temperature T; and T, are as shown in the figure. T, — T}
is proportional to

T, 30800 T, 96 6 Trgan o8] V — 1 00 Srowdse. T, - T; 98
908 ATROF ST Eotol?

Th

90-6 T

* 1

Options:
1 w cos26

5 % sin 26

3 @ cot 26

4 % tan 26

Question Number : 97 Question Id : 813561577 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bullet strikes against a wooden block and is embedded in it. the nature of collision is:

28 ﬁsb&méﬁbé 28 LT Arodonod. B8 Hddot) BDHTSe?

Options :

AP EAMCET 2020



AP EAMCET 2020

Elastic

Perfectly inelastic

L. elerey e wgﬁgﬂbs

Inelastic

IR DG
3. % P

Perfectly elastic

L Llete) o ﬁ@fg‘us

Question Number : 98 Question Id : 813561578 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Three blocks of masses 700 g, 500 g and 400 g, suspended at the end of a spring as shown in the
figure, are in equilibrium. When the 700 g block 1s removed, the system has a period of oscillations
of 3 5. If both 700 g and 500 g blocks are removed. the period of oscillation becomes

700 g,500 g 2nBat 400 g ngéom o améum w8 Derds, P Hed” WrDA AGAWT
06 BT, ©) Ay .8?353 SE6) D. Ayo %@ﬁ‘ 6d) S0 A0 700 g 260
RN 3 SR LIS SRS ¥ S99 Eomen B8, p53% 700 g 28030 500 g
520} Bocholhd S0 000 & 230 836 TV Dod?

Options :

1 % 1s

2\?,23

Question Number : 99 Question Id : 813561579 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The distance between the successive node and antinode 1s

DO BROGEA), DRYODR Dot .‘.1}::,‘:5 &I 0o

Options :
1. % A

A
2

2. %

Question Number : 100 Question Id : 813561580 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A prism (i = 1.5) has the refracting angle of 30°. The deviation of a monochromatic ray incident

normally on its one surface will be. (Given sin 48° 36" = 0.75)

25 :aggs;m (u=15) axos), bée;ibé Enaw 30° ::egéan 25 BV 353% S0t V0T
DS/ TR HAD (sin48°36' = 0.75)
Options :

1 ¢ 18° 36’

, % 22°38'
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18°

4w 22V

Question Number : 101 Question Id : 813561581 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A balloon of mass “M" descends with an acceleration ‘a’.(< g). What mass need to be removed
from the balloon so that it starts ascending with acceleration ‘a’?

G303 M (0 Burd S(0mA “@(< g) & $0B8 DD 6. BUPS ‘a” GRS D3
7wol) & Adod. dod G2 SvSaird?

Options :
2M
1 = (at+g)

ZMa
5 (a+g)

2Ma
3 x (@=9)

2Ma
(g—a)

Question Number : 102 Question Id : 813561582 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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On a smooth inclined plane, a mass M is attached between two massless springs of force constant
k each. as shown m the figure. The other ends of the springs are fixed to fitm supports. The period

of oscillation of the mass M is

28 R0 7720 i M G030 SRYR Told Gyt BTrTe D6 k wfgwo?w
(10 )orwS, Hod” B AT S, &8 Wyotho G000 EDEBHL Eoltd, &
DRV TDVS); BGR) STV BLVR.

Options :

Question Number : 103 Question Id : 813561583 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A Fraunhofer diffraction pattern due to a narrow slit is obtamed on a screen placed at a distance
D from the slit whose skit width 1s “a’. The distance of first secondary maximum from the central

maxinum is

Doy ‘@ o DY D98 Aol D Grdods’ v 86 FIF 06 6D PGP0 DR,
Sooth 1023 Aod. 26E 73 (BRAD Gr63N

Options :
3DA

1. @

3DA

2DA

% 30

2DA

4.% @

Question Number : 104 Question Id : 813561584 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: o ; 4 . 238 n . 206
In the Uranium radioactive series. the mitial nucleus 1s i/ and final nucleus 15 Bsz. When the

Uranium nucleus decays to Lead. the number of « particles emitted is and the number

of f particles emitted 1s

238 206

03080080 GI0¢) BEAITEE)S FHE" 0z Sasn U 208050 wod Sosetn *g,Ph

T &8) 8. anBAoDHA0 So@sn AN T DR BodS, s ool @ Sdoko f seren

Options :
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Question Number : 105 Question Id : 813561585 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A machine which 1s 70% efficient rases a 10 kg body through a certain distance and spends 100 ]
energy. The body is then released. On reaching the ground. the kinetic energy of the body will be

688 70% 0 2,8 aodaw, 28 10 kg S0P §od Grdm e’ 100J 38 DIArAowd
SRR, 8. Aol HRYR YT HA8S w6 2 BBRYE T (1w

Options :
1. % 04

707

L % 507

4 %357

Question Number : 106 Question Id : 813561586 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The temperature of a body 1s measured both in °C and °F. A graph is plotted with °F on x-axis
and °C on y-axis. Then the cosine of angle between the graph and the x-axis 1s

w8 S0 668 B\abd [°C] ook [F ] G0’ 580 [°F] e r-egam o
2nBoso [°C ] &d8R0 y-o5aw dog SED IrH AR, &8 1D L B0k x-5508 26
S 0ws), §23 end dody?

Options:

1.% 0

9
2. % O

5
3 % VIO06

9

4 v V106

Question Number : 107 Question Id : 813561587 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the raw egg and boiled egg are subjected to spin on a table by applying the equal torque. then
the egg that spins with the greater speed 15

SONDE, GESHN DD w8 &7, H0Irhod) ASAT: By, ey S48 861 e D6?

Options :
raw egg

1. % e

AP EAMCET 2020



AP EAMCET 2020

boiled egg

5 ¥ Eci!:‘-eﬁeéé g8

Both eggs have equal speed

5 OOGF RITD Hu Sdorboraw

Both eggs never spin

, w 00T SO

Question Number : 108 Question Id : 813561588 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A swimmer can swim in still water with speed ‘v’ and the river flowing with velocity v/2. To cross
the river in shortest time. he should swim making angle ‘6" with the upstream. What is the ratio of
the time taken to swim across in the shortest time to that in swimming across over shortest distance?

28 ST DEET 8y HBE" v 38 & S, B8 DR S0 v/2. 56 D VD By
soand’ OIS HrrHss’ 0 Snan SAr G, K6 TLmAS HF v ddy.d
SO0 200K & B8 Br6A0 AT HE SUIL Aind

Options :
1 % cost
> x cotf

3 ¥ sin @

4 w tanf
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Question Number : 109 Question Id : 813561589 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A sound source is moving towards a stationary listener with 1/10™" of the speed of sound. The
ratio of apparent to real frequency 1s

B 208500 ORI 2830921 (12 M3’ 102 Do S3wS HenDRR)6.
000, cy3( 200080 z TRLYTP B =
Options :
E
1.¢ 9

11
2 % 10

9 2
4. % (1(})

Question Number : 110 Question Id : 813561590 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Electromagnetic waves are produced by

DEBODIY 08 SCOTVR &SNS SO

Options:
Charges at rest only

| RE30 BITW TG
1. %
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Changes mn nniform motion only

- DEOD (D" &) BITW IS

Accelerated or decelerated charges only

P S(Gts0 Wohd T eed(Geso WoBR) BSIT W TG
3. -

An uncharged stable particle at rest

53330 G, Do) &) N6 S8
4, % @

Question Number : 111 Question Id : 813561591 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A solid cylinder of mass M and radius R rolls on a flat surface. Its moment of inertia about the
line of confact 1

@.550‘% ‘M, a‘s.a“g;m ‘R’ o 2,8 T,’..Dé‘r‘pm“ﬁ;ﬁn 28 VBV EHd0ed. E‘a:'tﬁg 898,200
060l T RSP

Options :

Qe

1.4
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Question Number : 112 Question Id : 813561592 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A bomb at rest explodes into three parts of equal mass. If the momentum of two parts are

~2p1 and pj. find the magnitude of momentum of the third part.

Do 08206 &R) w8 eroen 59, Jarcy HArED B[O (0 PR BOVIE.
TS DocS QAL —2p T OO P LA, J4PED A GIDAZD A0S,
2830 dvdoc.

Options :

1.% P

2. % V3p

3.«-«*"530

Question Number : 113 Question Id : 813561593 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The second line of Balmer series has wavelength 4861 A. The wavelength of the first line of

Balmer series 1s

e 26 336 Boctd B0 8o 550 4861 A. er206 3565° 2w 89 8orio Jos?

Options :
|« 1216 A
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, » 6563 A

3 % 4340 A

, « 41014

Question Number : 114 Question Id : 813561594 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

What 15 the phase difference between the flux linked with a coil rotating in a magnetic field,

and the induced e.m. f. produced in 1t?

28 OO 08 EBANE” AEMAR) S BATERSA0 WB0Lr 268 DAET VS LerY
6 &7 AlaletV
Options :

1.330

& |a

Question Number : 115 Question Id : 813561595 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A coil of mductance L 1s divided in to four equal parts and all the parts are connected in parallel.
The effective inductance of the combination 1s

L 208820 (v 28 éﬁmgm TRV DAV JBZow, & BPTURD NaFoddau™
0. Lok, & Suans g HBS HESEHN SeYA.

Options :
L
1.% 4

L
2.% 8

L

3 v 16

4 % 4L

Question Number : 116 Question Id : 813561596 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a pure resistor is connected to an AC source, the phase difference between the voltage
and the current through the resistor i

R 008 28 ATTA) AC 285708 5B M0 (o Hderodd DB,
Sgasd 06 a0

Options :
1. % 90°
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180°

3 % 45°

ﬂﬂ

Question Number : 117 Question Id : 813561597 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The capacitance of a spherical condenser is 1 uF. If the spacing between the two spheres 1s
1 mm. the radius of the outer sphere is

w8 AEY Soldyt aog) SN0y 1 uF. &l Aivee A6 P63 1 mm Band, er
S J“éa“gaﬁn Jod?

Options :

1 = 30 cm
5 % 6m
3 % dem

4 3M

Question Number : 118 Question Id : 813561598 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A straight wire carrying current “ i " is turned into a circular loop. If the magnitude of magnetic
moment associated with 1t in M. K. §. units is M. the length of wire will be

117 G0 DITRID) w8 83) SN HTTC UrYT Ar6 A, M.K.S. pirmd” ol
0D 08 gPaso DBATH0 M 0N, & & Ty Jod?

Options :

| 4miM

Mm
4

Question Number : 119 Question Id : 813561599 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two water pipes of diameters 2 cm and 4 em are separately connected to a mam supply line.
The velocity of flow of water in the pipe of 2 cm diameter 1s

2 cm 0Bty 4cm Jérﬁ“w 60 Both N8 Ferodo S8 w8 DE°d AEDT" FEFS
$9rE. 2 cm TR (o FLRG" B3l B S

Options :
4 times that in the other pipe
| 006D F8:2085° Sot3 4 Bew
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3 . :
- fimes that in the other pipe

B0t FEAn0e* % P atee Y]

2 tunes that in the other pipe
Coctad 085" Sotd 2 Te

1 : .
- times that in the other pipe

Bocisd FeBne” % 2P0

Question Number : 120 Question Id : 813561600 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A body 1s projected vertically upwards from the surface of a planet of radius R. with a

velocity equal to half the escape velocity of that planet. Then. the maximum height attamed
by the body 1s

28 SRR R TG0 (0 28 (7500 S0iS00 ok, € (rid0 DErabIdisng’ e
515008, DI 8 D0 B, B, & WD) BOED 108 I

Options:
R

1.¢ 3

R
2 # 2
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R

a% 5
Chemistry

Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 121 Question Id : 813561601 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Presence of which of the following 1s suitable for the synthesis of bromobenzene from
benzene diazonium salts?

B0 & & V0D VBTY ol &3 B A Dot SoBTAS" BI/D8
&S & 6y tR0?

Options:
1. % HEr

5 % MgBr,HBr
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3 @ Cu,Br;, HBr

4. % KBI

Question Number : 122 Question Id : 813561602 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which statement is mcorrect regarding Hall-Heroult process for metallurgy of aluminum?

1. Use of Na;AlF; lowers the melting pomnt of Al, 0,

2. Steel vessel with lining of carbon acts as cathode

al

Graphite 1s used as anode

4. Carbon dioxide gas 1s generated at cathode

ww&&hoﬁ;ﬁm R iy, Be90 &ﬁﬁgﬁoﬁ IS oY :chiéé 2080800 DB 2B 5°?

L. NazAlF; e2airian 303 AL 0; $83% 84w Siodoed
2. 56y R0A o 95 §8 SHE t 1 R0

Tt 86 T GOErEHEE00

L]

4 566 36 56D & 8F)E Tan 0D

Options :

1.331

-3
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Question Number : 123 Question Id : 813561603 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The artificial sweetener sucralose 1s

5,850 G STE8HL S E s

Options:

Hexachloro derivative of sucrose
RES g, IPEET ey AW

Trichloro derivative of sucrose
RES cwg) PET edy D) B

Pentachloro derivative of sucrose
REE ding), DotrE T e o) Jw

Tetrachloro derivative of sucrose
. REE g, OErET adydyIw

Question Number : 124 Question Id : 813561604 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is a neurologically active diug?

&od T85° TG Dotrod OTETIIS HDIDOKD D0 DB?
Options :
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Analgesic
DRT DS
1.9 ES

Antacid
5 % 30 DO
Antibiotic
5 x O3rofleaireds

Antihistamine

4 % CEFoBRDS

Question Number : 125 Question Id : 813561605 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the density of an aqueous solution of K1 if its molarity and molality are 1.44 M and

1.5 mol. kg ™! respectively.

K1 a0mrsne ang) 300088 odoiy awerdden S 1.44 M Sodoiw 1.5mol.kg™?
o8, T Fold dodh?
Options:
—=1
L 2.20gL

—1
, 4 25041

-1
Lo 120gL

=1
4 x 050 gL
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Question Number : 126 Question Id : 813561606 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following represents Schrodinger wave equation?

2085°2¢5° T'Corib BGort DALEGEI0 DE?

Options :

d2yp d2*Yp d%*yY 4mwm
dx? ¥ dy? dz? L h (E_U}L’b =

’|_ e
e h ( d? d? d?
. )4
5 % H ™ 472m \ax2 dy? = dz?
s _hz ( dz dz dz
L o)
3 % H ™ gp2m \dx? dy? = dz?

2 2 2
ay  ay  da*y

2
Br m
E-Viyy=0
4 @ dx%  dy? azz hzr[ Y

Question Number : 127 Question Id : 813561607 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Number of hydrogen atoms in the given compound 1s

06 DD FIANG’ IPEBD DEATEDHL Doady

Options :
1. % 10

2.v 12

. 14

. % 16

Question Number : 128 Question Id : 813561608 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Identify the products formed when chlorine reacts with cold and dilute sodium hydroxide solution

%09 20 Faso TE5ES £63 6 ToBRYED D& 6T e oBoidol:

Options :
1 % NaCl, NaClO;, H,0

, » NaCl, Naclo,, H,0

3.¢N{1CE, NaOCl, H50
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4 » NaCl, HCl, H,0

Question Number : 129 Question Id : 813561609 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The product formed when formaldehyde reacts with ammonia is

o) €, e.e:aréawesf B30 ToBIYE obbTIS" D600

Options :
Melamine

1 % 0D

Formic acid
S0 5o

Ammonium formate

9257 dodo ;}3&&5

Urotropine

o385 D

Question Number : 130 Question Id : 813561610 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the alkali metal with highest reactivity among the following

& S0 835" OS[BS cﬁt:“ig%’uefa £dHAIND) =6 S0 IB?
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Options :
1@ Cs

Li

3$3Na.

Rb

Question Number : 131 Question Id : 813561611 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

How many unpaired electrons will be present in the ground state of an atom which has valence
electronic configuration 3d® in its +3 oxidation state?

+3 es%:j;dea %@6‘ 3d° dugd DF(0 €8 Gt mgﬂcméé &8 D7D D) 2P
TR0 $9H Gotwod

Options:
1

1. %
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Question Number : 132 Question Id : 813561612 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the molarity of NaOH solution prepared by dissolving 0.4 g of NaOH in enough
water to form 500m! of the solution.

0.4 g NaOH £ 8008 Db 92 500ml mradam Saird BRGDE & Trmsw
20788 ficdotsol.

Options :
1. « 0.02

, % 0.05

5 % 0.04

4 % 0.03

Question Number : 133 Question Id : 813561613 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which among the following statements 1s incorrect for interstitial compounds?

1. They are very hard and rigid

1

They have higher melting point than pure metal
3. They do not show conductivity

4. They are chemically inert

e odTY DI FTOD 2o)oBet) S0d 635" DA DB oI TP ?

1. 09 SBHAVMT 80k GyEANT Sotraw
2. 3G P S0l ALY D 3DBID Fr0230 €0A cotron
3. dergirsss DA eokd

4. 099 SrcRDI0T B :J::“E“w

Options:

1.331

b3

Question Number : 134 Question Id : 813561614 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The magnetic property of NO; 1s

NO, a308), @0 och 695), B DB?

Options :
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Ferro Magnetic

Folo] Era‘ijﬂ“ajo@

Diamagnetic
¢Q3° 90, 0dh

Non-Magnetic
0D 0 e

Paramagnetic
Hoe waﬁ;&bu@

Question Number : 135 Question Id : 813561615 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The number of 120°, €l — P — Cl angles in phosphorus pentachloride are

FR0y60 Dot §066° €1 — P — (1 wocSen devd 120° 6 Emren JJ) &otran?

Options :

1.4 3
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Question Number : 136 Question Id : 813561616 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a current of 0.5 4 15 passed for 2 hours through a molten metal salt. 3.88 g of the metal
was deposited. If atomic mass of the metal is 208 units. the oxidation state of the metal i
the salt 15

0.5 A Doy DT 2 flotsw FE 28 (0D 8L vde BT Dowd 388 g v §ire
DO\EAA. &8 &0 HOATERD G903 208 ohr e wad, D808 §'iPa 008,
381560 2O B,

fr

Options:
1% T1

2_{/-!-2

3. % 13

4. % T4

Question Number : 137 Question Id : 813561617 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Identify the primary halide among the following compounds.

S0 Toedes” ;.g_mé SFSE S0 dBothodt.

Options :
1-bromo but-2-ene

- g5 20" er(es-2-8
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4-bromo pent-2-ene

4-85"25° Dot5-2-8D

2-bromo-2-methyl propane

- 2-g5°ar-2-2058 Tod

t-butyl bromide
t-220(83¢5 &5° &

Question Number : 138 Question Id : 813561618 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A commercial sample of H,0, marked as 100 volume hydrogen peroxide means
w8 J‘E‘SB&'S B3 H,0, & 100 0808556 FE2d DT FE T BRI, & g2

Options :
1 ml of H>0, will give 100 ml of O, at STP

., STP 3¢ 1ml H,0,, 100 ml © 0, 3 ®&do8

1L of H,0, will give 100 ml of O, at STP

STP ¢ 1L H,0,, 100 ml © 0, 2 @008
2. #

1L of H,0, will give 22.4 L of O, at STP

STP 56 1L H,0,, 224 L © 0, & 92008
3. % = .

1 ml of H,0; will give 1 mole of 0, at STP
4% STP 26 1 ml H,0,, 13576 0, 3 |08
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Question Number : 139 Question Id : 813561619 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When 30 ml of H, reacts with 20 ml of 0, to form water. what is leftover when the
reaction ends?

30 ml Hy 0803w 20 ml 0, © g 1506 285 Do DoEod. B &5 B[ 6%
DATE

Options :
| % 10 ml H,

- ml H,

10ml O,

3. %

4V sml 0,

Question Number : 140 Question Id : 813561620 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The pK, of a weak acid. benzoic acid and pK, of a weak base. ammonmum hydroxide are 4.25 and

4.75 respectively. Then. the pH of 0.1 M solution of ammonium benzoate will be

QRN B2 0 Bod 0 B0 pK, = 4.25 BN VLT TEAW NI ear) Joko
TE\e pKy = 475 wand, 0.1 M 0dr) doto 0& ahE Gramaw akog), pH fiedotdod.
Options :
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| % 7.10

, % 7.50

5 v 6.75

4 % 6.50

Question Number : 141 Question Id : 813561621 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What will be the product A in the reaction given below?

Sod ﬂﬁd}gé" G R DD A A Swdoc.?

NH,
HCl
+ HNO, — A+ 2H,0
Options :
Phenol
| % OS5

Benzene diazonmumn salt

5 082D CoLE Do wSEAD

Benzene

3 % ALEAS)
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Nitrobenzene

285" SodD

4. % ==

Question Number : 142 Question Id : 813561622 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Arrange the following carbocations in the increasing order of stability with respect to their labels:

dodd ;‘JQS@‘ 5‘6“’) S0ErI T8 Jed © %g’é T8 ?éadejS:znv 0 re £20d0° 060l

Label Carbocation
0] 58 TRrd
1 (CH3),CH*

2 CH]
3 (CH,),C*
4 CHy - CHy

Options :

1.J2:::4~ci1{:3

1<2<3<4
E
s 4<3<2<1

3

2<4<3<1

Question Number : 143 Question Id : 813561623 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For an isothermal and free expansion of an ideal gas. which of the following is true?

1. For an adiabatic change. heat (q) 1s non zero

-2

. For an adiabatic change. heat (q) 1s zero

L

For an 1sothermal reversible change. heat (g) 15 zero

4. For an 1sothermal process. the temperature changes

RATYE D8NS 28 BEG) TOWYHR) N J‘ég QoYY & gobd TS DB Jasedo?

L.

LT

B 3D & (q) Smddn

!~.J
LT

B 3050% G330 (g) Ar[E

raa

ARrGE egunal PN EBdw (q) PR

:lh

'&&PQS D8ahHey o—‘;gijé Dy 2™

Options :
1

-J

Question Number : 144 Question Id : 813561624 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which oxide among the following cannot act as a reducing agent?

S0 55 EeS” LODECEIT DI BoDIS VB?

Options :

| % S50,

2, x NO2

3. C02

4 % ClO;

Question Number : 145 Question Id : 813561625 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Rate of the reaction xA + yB — zC is given by r = K[A]*[B]’. If the concentration of 4 is
tripled. rate of reaction increased by 27 times over the initial. Then choose the correct plot for

variation of half-life (t; , on y-axis) of the reaction w.r.t total initial concentration of reactants

(on x-axis) 1s

xA+yB - 2 , & 6(% r = K[A'[B]Y . A 03g) e e 06 Do, o) S
&8 w5 Gewsh 27 0 MR B3, T ASTAN(ty 5, y-IAFOED) & Buboko
SOIrRd5Y 8008 MGG A0ehdn (-Adrdsaw) § Rotorrd) 392 20 wand dar
DB20% fBotSed.

Options :

1. %
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4, %

Question Number : 146 Question Id : 813561626 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following compounds will exhibit cis-trans 1somerism?

808 TBS" DDE-DDE J e BBV DEBYOBRI DB?

Options :
2-butene

- 2-5335&35
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2-butyne

2-2060

2-butanol
2 -m&@.ﬁ 5]

butanal

a.uée.m“e_'i

Question Number : 147 Question Id : 813561627 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the reaction NO; + CO = NO + €O, one mole of NO, and 2 moles of CO were kept
avessel. Calcvlate the equilibrium constant K,, if at equilibrium 25% of initial amount C0 1s

consumed.

N0, +C0O = NO + (0, 0o ©df §65) w8 are N0, Sobodw 2 areww C0 & w8
TS Sl . "foma"fg@ 26 C0 oiws), F00 2rried’ 25% DAAFHDEDLONS, el
a0, mmwfg@ ?gu“os-o K, Q tigdotioc.

Options :

1
1. % 2
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o=

Question Number : 148 Question Id : 813561628 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following statements is true about reactivity of haloarenes towards
nucleophilic substitution reactions?

1. Haloarenes are very reactive towards nucleophilic substitution reaction
2. In haloarenes. the C — X bond acquires partial double bond character
3. The C — X bond in haloarenes 1s longer than the € — X bond in haloalkanes

4. In haloarenes. the phenyl cation formed as a result of self-ionization 1s stable

S0 TS > OIS’ mg:aﬂ:% DOZHM B[ DY tﬁc‘ﬁuam Rot)oot) HBAVA
Fohsiatate iy A6?

[ —

- ¢ B Argdarnds B DY ©8s doPud s dotran

!\J

P8’ AP’ € — X wocadn L8 Aot V(P odBoun otot

LI

TS A0RE’ € — X wodiw ire" 6) 08" € — X wothin $otd TS0

4 DB rae eaDSH S0 DoYED DS THAT 2620008

Options:

1.% 1

2.v 2
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Question Number : 149 Question Id : 813561629 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The de Broglie wavelength of a tennis ball of mass 60 g moving with a velocity of 10 m.s ™
15 approximately (Planck's constant h = 6.63 X 10734 1.5)

60 g @703 10 m. s 6s0S $dock 8)R £0d e ed aﬁoﬁ%o GZPONOR)
e (o8 Domogiw h = 6.63 X 107 15)

Options :

1.1x 1073 m
W

, o L1X 10732 1

1.1x107** m

4 % 11X107%% m

Question Number : 150 Question Id : 813561630 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the item given in Column-I (method used for determming colligative property) and
Column-II (for the corresponding colligative property) and find the correct order.

Column-I Column-II
a. Beckmann method 1. Osmotic pressure
b. Ostwald-Walker method 1. Elevation in B.P.
¢. Berkeley-Hartley method 111. Depression in F.P.
d. Landsberger method iv, Relative lowering of Vapour pressure

15 o do 007 (SFErd G0 Agowoetd a’xge‘.’é) 23 srodey’ o woto (80D
ST Gﬁdéo) & 28000 §od TS’ PO SRuN)Y Budod

s I o 11
2. 8503 DY L GO0 DEdo
b. eI(&-7sb 263 AR g“é &) 8
¢ eﬁﬁg}@-bﬂﬁb A3 fi. 092558 % i) &
£ & @
d. wrody 886 2653 v, g e,ﬂqb?x:a Do) &
Options :

- (a—ii), (b —iv), (¢ —iii), (d — i)
- (a—1), (b —iv), (c —ii), (d —iii)
(a—ii), (b —iii), (c —iv), (d — 1)

, (a —iii), (b —iv), (c — 1), (d —ii)

Question Number : 151 Question Id : 813561631 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical
Calamine. Bauxite. Malachite and Siderite respectively are ores of
SO, &5 8, Aru3t) 8050 DETE L SR £ TS
Options :

1 Zn, Al, Cu, Fe

_ Cu, Al, Zn, Fe
2. W

3 % Zn, Al, Fe, Cu

Al. Fe, Zn., Cu

4, #

Question Number : 152 Question Id : 813561632 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Match the following graphs of a gas with their corresponding y and x coordinates

S0l BIED a0y cvg) Far gLy Tt PBELN y,x ArHSUL BdDGeC.?

Graph / g Ddaw Y VS, X
1) \ (@ pVvs.V
i) " b) pvs.V
(i) | © pvs %

Options:
1@ (i—b), (ii—¢), (1i—a)

(i—a), (ii—c¢), (iii—b)

2. %

(i—b), (ii—a), (iii—c)

3. %

(i—a), (ii—b), (iii—rc)

4, ®

Question Number : 153 Question Id : 813561633 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The compounds formed when KMn0O, 1s heated to 513 K are

513 K 368 KMn0, Q 3¢ sSadrr gﬁd:}cia €3N T7)

Options :
Mn0,, 0, and KOH
MnO,, 0, 200ciw KOH

1. %

K,;Mn0O,, Mn0O, and O,

, o KaMn0, Mno, 208030 0,

K;Mn0O,;, MnO, and H,0
. KaMn0, Mn0, 206050 H,0

MnO, Mn0O, and O,

4« MnO, Mn0, 2805 0,

Question Number : 154 Question Id : 813561634 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Glucose + 7 ———— Sucrose

4rSE + ? —— W8S

Options :
Glucose

(&8

1. %
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Fructose

35

Arabinose

3 % VTASE

Lactase

ersSH
4. % —©

Question Number : 155 Question Id : 813561635 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following relations 1s true based on the partial pressure and mole fraction?

S LRI, IrS Y D BT6 HE, $0d VowoTVS’ B SEN? (P10 = P ave,)

Options :
1 % Pi = X X T

5 @ Pi = Xi X Protai

Question Number : 156 Question Id : 813561636 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Match the entries from column I and Column IT and choose the correct order.

Column I Column II
1. Leclanche cell a) Converts energy of combustion mto electrical energy
1. Fuel cell b) Rechargeable cell
i, Ni-Cd Cell ¢) AtAnode Zn - Zn** +Ze

921 &6 Ty -1l 63 0TS 2 DO0 2O 90D $Ar) doars Bafod

ORI O-
8 )

i, G5ed) DBA a) amsgval S B3 ArcD

i, RoBR LoBAY b) RS 20k

i, Ni-Cd 20030 ¢) uSE 3¢ In - Intt 4 Ze

Options :
(i—e¢), (ii—b), (iii—a)

1. %
L« (i—a), (ii—b), (iii—c)

. (i—¢), (ii—a), (iii—b)

, x (i=Db), (ii—a), (iii—c)

Question Number : 157 Question Id : 813561637 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following is true about sodium chloride?

D'éasre EBE 80D) Sod 735" DB Jawdw ?

Options :
Molecular mass = 58.5 amu

| x O g;ﬁét}“% = 58.5 amu

Formula mass = 58.5 amu

ﬁ“d:ay.?’ @H(o°3 = 58.5 amu
2.V

Molecular mass = 5.85 amu

€9E g;ﬁ?gc“%' = 5.85 amu
3, ®

Formula mass = 5.85 amu

) w i’f“mét‘:“ @S0°? = 5.85 amu

Question Number : 158 Question Id : 813561638 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What sized ring 1s formed when two carboxylic acids form a dimeric structure through inter-

molecular hydrogen bonding? (consider hydrogen bond as a bond)

Boc> 5°07) 805 essiran TEBS o T 6 e o)) 6189, A6 Swaied”
AR DOJTRRY Got? (3PE2S Romrud) SPCe FTrEH Lolre HT HOtoiol)
Options :

S-membered

| % 5-0000e0aHe0
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6-membered
B-D0aT e

4-membered

3 % 4ROV

S-membered
4 80027 EHeN

Question Number : 159 Question Id : 813561639 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Dilute sodium hydroxide does not react with which of the following?

—

206 TS DOS Vdano TEF & W) JowsD Jarese DA?
Options :

1 = Ga

L« Al

5 x Ti

Question Number : 160 Question Id : 813561640 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following 1s a biodegradable polymer of polyamide class?

S08 T° FDIE BHG(BS Bocoehr, e&.;ﬁ@)ﬂ)r)ég_a 5508 D06 &?

Options :
Dextron

&S DQ“«E’J

1. %

Nylon-2-nylon-6

DETD-2-era-6
2.¢ =

Nyvlon-6. 6

3 % Jer-6, 6

PHBV
PHBV
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